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N : Zoology

Q.1 — 10 carry ane mark each 1

Life appeared on carth

(A 3000 milhion vears ago
By = 3500 million vears ago
() = 1000 million vears ago
i

500 million years seo

Amimals are clussified into hierarchical groups.  In which of the toliowine,, wonld
vour find the largest number of species?

A Crenus
(B Order
£ Mass
Dy Family

Human chromosome 1 to 22 are serially numbered

(A In ascending order of their length

Bl In descending order of their length
{0 Relative position of the centromere from ends of the chromesome

(1) Inorderof their position in the cell

Microfilaments are fine protein filaments often abundant in sukurvotic cells, They ane
aude up of the proicin

(A Actin

By Adbumn

[y Globin

(D) Fibrm

The subeellular vrganclle not hound by 4 single miembrime is
(A} Ciolol appararus

B3 Lvenaomes

() Endoplasmic retculom

(' Mutochondra

The storage carbohydrae v aninial 1

Al Starch
B Celulose
) Glyengen

(B Ciltrense



Q.7 The hormmone testosterone is produced by

(&) Levdig cells

(B Spermatocyie

(Cy  poealls of Pancreas
B Melunocyies

P
2o

The predomimant antihody 1w saliva 1s

(A) lals
(B lgA
€y leM
(D) 1213

). Secondary consumers in ecologice] parfance are

Al Oreamisms thut are omnivores
(B) Oireanisms that cal only carnivores
i) Oreanisms that eat only herbivores
() Organisms that are herhivores

Q.10 In the fish species, where internal ferilization occurs, the parental care is provided by

(A Baoth parents
(B} Neilher parents
(8] Eather

() Maother

L Q.11 — 30 carry two marks euch

QUL Whach pair of bases of nueleic acids differ from each other-having it hydrogen o7 i
% =1l .
methyl wroup in 37 position?

(A Adenime and Guanine
(B Cyilosine and Thymine
(Y Thymine dnd Uracil
(0 Uhracil and Cyiosine

(L2 seiich s the comrect statement of the Tollowing penaining 1o the mass of huses present
donble stranded THINA with 50%: G dontent?



Q.13 Nucleosomes contain a core and a linker region. The histones present in the core
region and the histones present in the linker region are

Q.14

Q.15

Q.16

Q.17

Q.18

(A)
(B)
(©)
(D)

Core (H1, H2A, H2B, H3),, Linker H4
Core (H2A, H2B, 3, H4);., Linker HI
Core (H2B, H3, H4, H1)>, Linker H2A
Core (H4, H2A, H2B, H1):, Linker H3

Two species are considered phylogenetically closer because

(A)
(B)

(8
(D)

there was very little difference between a protein they made

the base sequence in the messenger RNA they synthesized in a given time were
similar

they made the same carbohydrate

the base sequence of their ribosomal RNA were very similar

The secretary IgA was electrophoresed on SDS-PAGE under reduced and denaturing
condition. The number of polypeptide bands detected on the gel is (are)

(A)
(B)
(€)
(D)

th B Ll kD

The following are the primary lymphoid organs in mammals

(A)
(B)
(€}
(D)

Spleen and Thymus

Bone marrow and Thymus
Thymus and Lymph node
Spleen and Lymph node

Telomerase activity was monitored in the following cell types. The highest amount of
telomerase activity was found in the combination of

(A)
(B)
(C)
(D)

Embryonic stem cells and Hematopoitic stem cells
Nerve cells and Muscle cells

Erythrocytes and Macrophages

Hepatocytes and Eosinophiles

Apicoplast is a unique organelle in malarial parasite which can be used as a specific
drug target. The macromolecular transactions that take place in apicoplasi are

(A)
(B)
(C)

(12}

DNA replication, transcription, fatty acid biosynthesis, nucleotide biosynthesis

DNA replication, ranscription, translation, fatty acid biosynthesis

Translation, fatty acid biosynthesis, nucleotide biosynthesis, protein
biosynthesis

Nucleotide biosynthesis, fatty acid biosynthesis. amino acid biosynthesis,
carbohydrate biosynthesis



Q.19 During oogenesis and spermeogenesis starting from single oocyle or single
spermatocyte, the respective number of ovum and sperm generated are

(A} two ova and two sperms
(B} one ovum and four sperms
(C)  four ova and four sperms
(D) four ova and one sperm

Q.20 A male rabbit was hyperimmunized with sheep red blood cells and produced high titer
antibody (1:20,000). The plasma cells of this animal revealed hypermutation of the
antibody genes. The animal was crossed with a normal female and a litter containing
one male and one female offspring was obtained in F1 generation. The F1 rabbits,
when four months old were bled and their serum titer for sheep red blood cells was
monitored. The titers that were obtained in the F1 rabbits are

(A}  Fl male (1:20,000) and F1 lfemale ()

(B)  Fl male (1:10,000) and F1 female (1:10,000)
{C) F1 male (0) and Fl female (1:20.000)

(D) F1 male (0) and F1 female (0)

Q.21  In order for the blood to flow from right ventricle to left atrium in mammalian heart,
it must flow through

(A)  Right ventricle — Pulmonary arteries — Lungs — Pulmonary veins — Left
atrium

(B)  Right ventricle — Pulmonary veins —» Lungs — Pulmonary arleries — Left
atrium

(C)  Right ventricle — Right atrium — Lungs — Pulmonary veins — Left atrium

(D)  Right ventricle — Systemic aorta — Lungs — Pulmonary veins — Left atrium

.22 Long limbs are adapted for running. Choose the correct order for the relative length
g P £ gt
of the limbs in animals evolved for the gaits listed below

(A} Plantigrade > Digitigrade > Unguligrade
(B)  Unguligrade > Digitigrade > Plantigrade
(C)  Digitigrade > Unguligrade > Plantigrade
(D) Digitigrade = Plantigrade > Unguligrade

o
i
e

A man found to be suflering from a disorder linked to sex chromosome. Al the sons
and daughters did not suffer from the disease. This is because

(A)  The man’s Mfather was a carrier of the discase trait

(B)  The man's paternal grandmother was a carrier of the disease trait
(C)  The man’s paternal grandfather was a carrier of the disease trait
(D)) The man’s mother was a carrier of the discase trait



Q.24

Q.25

Q.26

The net order of primary productivity in terms of accumulation of drug organic matter
per m* per year for various terrestrial communities is

(A)  Tropical forest > Temperate forest > Boreal forest > Cultivated land
(B)  Cultivated land > Boreal forest > Temperate forest > Tropical forest
(C)  Temperate forest > Tropical forest > Cultivated land > Boreal forest
(1) Cultivated land > Tropical forest > Temperate forest > Boreal forest

When new male lions take over a pride, they often engage in infanticide. The reason
attributed for the same is

(A)  The females of the pride are brought to estrous by killing of suckling infants
(B)  Theinfants interfere with hunting

(] They hate the former males of the pride and therefore kill their infants

(D) To prove their dominance in the pride

The cross over frequency (Cross Over Value = COV) for a four gene loci (PQ R $) on
a chromosome are

P-Q=30;Q-R=25Q0-8S=15R~5=10andP-R = 5
The sequence in which they occur is

(A)  PORS or SROP
(B)  SOQRP or PRQS
(C)  RSPQ or QPSR
(D)  PRSQor QSRP

In a population, the frequency of a recessive allele is 10%. The heterozyegotes
genotypes (Aa) frequency in the population in percent is

(A)  10%
(B) 81%
) 18%
D) 90 %

Experiments carried out has shown that Rohu and Catla, two common edible fresh
water fish have the equal chance of being caught in the net. In a small lake,
100 tagged Rohu were released. Next day, a fisherman caught 10 tageged Rohu,
12 untagged Rohu and 8 Catla in his net. The fish population remaining in the lake is

(A) 120 Rohu and 80 Catla
(B) 220 Rohu and 80 Catla
(C) 198 Rohu and 72 Catla
(D) 108 Rohu and 72 Catla



.29 Reverse transcriplase 15

(A)  RNA dependant DNA polyvmerase and DNA dependant DNA polymernise
(B)  RNA dependant RNA polymerase and DNA dependunt RNA polvmierase
i) DNA dependant DNA polvmerase and DNA dependant RNA polymeruse
(13 RNA dependant DNA polymerase and RNA dependant RNA polymcrase

Q.30 The two scientisls wha were awarded the Nobel Prize in physiology or medicine for
their studies in the aren of gnimal behavionr are

(A B. Benaceral and Karl von Frisch
iB) k. Lorene and §. Tonemiwa

1) Karl von Frisch and K. Lorenz
Dy B Benaceralund 5, Toncouwa



